Math 346 Quiz 3A
February 17, 2016

Name:_ ANSWER.S

Instructions: No calculators! Answer all problems in the space provided! Do your,jough work on scrap paper.

1. Lletd = [ay] . Definetr(4) = Ayt Xaat.. -+ &nn gr Z AiL
nxn x [T

2. (a)Given A = [aij] and B = [b :'j] , conjecture a formula for tr(A + B) = +f(ﬁ) + 'f(‘ (K )

(b) Prove your formul works:

Ff: +c(A+B)= Z(a.-.ﬂl,,b) Z%*é‘uﬁ te(A)+&(B). g

3. Recall:if A = [aU] , then AT = [ ﬁ] - Suppose B = [b ”] .Prove that (4 + B)T = AT + BT.

PF: (are)T= [_'CLU‘!'LLJ] [aw,» ] = [aJ,j]n;-[LUJ ATeT" 2

x+2y—z = 1
4. Solve the system x +2z = 3 bydoing the following:
2x—4y+z = 0
(a) Write down the augmented matrix for the system:
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(b) Find the reduced row-echelon form of the augmented matrix:
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(c) Write down the solution as a column vector: (y) = 'L'
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(c) Isit possible to find B~1? \/c,j How do you know? olb’{' E 79 O

N
(d) Let C be the coefficient matrix of the system in problem 4. Is it possible to find C™1? /6 S

How do you know? RREF OGE C,': j:?'a
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Bonus: (a) IfAz(é _Oz),findA‘lz G -3




